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,‘!'2 7. A mumber times 5, minus 6, is 8. Write an equation o determine the number.
EIE
& f-Sx=13 @5}:—6-8 C. 5-fx=§ d. fx—5=8

Q_ £. Use a symbol to write an inequality thal corresponds Lo this 511:@;:: is less than or equal to 4

B xxd b x=4 L. x<4 d. #<4
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10. Which inequality liag its solution praphed on the number line below?
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4. Define a variable and write an inequality to describe the situation.
a) You must be under 12 years old to play for the Mini Tommies. X = },;1
b) Student Council must sell at least 45 t-shirts to make a profit. ,\/ = L/“,T

jraph the solution on a number line.
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